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DUMP.CLD;1
H
; Version: 'v04-000"
i SHZ0001 Stephen H. Zalewski 12-A?r-1984
: Move all checks for conflicting qualifiers from DUMP image
3 to the CLD.
define type dump_blocks
eyword start, value(type=Snumber)
keyword end, value(type=$number)
keyword count, value(type=$number)

define verb dump

parameter
qualifier
qualifier
qualifier
qualifier
qualifier
qualifier
qua er
qua er
qua er
qua er
qua er
qua er
qua &r
qua
qua er
qualifier
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be o o amdo s mbo =ds o =bo

gl[pronpts“r1lo".valuo(roquirod.type=tinfilg).labol=input

ocated
ascii
glgcks. value(list,type=dump_blocks)
yle
decimal
file_header
formatted, default
header
hexadecimal
Longword
number, value(type=$number)
octal
output, value(type=Soutfile)
printer
records, value(list,type=dump_blocks)
word
any2(octal ,decimal ,hexadecimal)
any2(byte,word, longword)
records and blocks
printer and output
records and allocated
blocks.end and blocks.count
records.end and records.count
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